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AddFeedActivity
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FeedCrewFragment RecyclerAdapterFeed

setBin()

onCreateView() getitemViewType()

ted(

FeedFragment TabAdapterFeed setFeedList() getitemCount()

onCreateView() getltem() setBtnAnim() onBindViewHolder()

ted( ) T

setTabLayout() destroyltem()

setBtn() getPageTitle() FeedMyFragment
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onCreateView() ype()

onCreate()

reated() onCreateViewHolder()
omment()

setFeedList() getitemCount()

setBtn()

AddMarkerActivity

MapFragment onCreate()

setBtnAnim()

onCreateView() requestPermission()

ted(

setSpinner()

TabAdapterMain setPermission() onActivityResult()

getitem() setMapViewContainer()
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I—, setBn() setTabLayout() destroyltem() setMarker()

getitemViewType()

getPageTitle() setBtn()

folder()

setSpinner() getitemCount()

showlnfoL.ayout() onBindViewHolder()

SignUpActivity = NoneSwipeViewPager hidelnfoLayout()

onCreate() oninterceptTouchEvent() showSettingLayout()

setBtn() onTouchEvent() hideSettingLayout()

setMyScroller()

= RecyclerAdapterCrewActivityCard

- MyScroller GrewFragment getitemViewType()
startScroll() onCreateView() .

onActivityCreated() getitemCount()

showinCrew() onBindViewHolder()
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setBtn()
setCrewList()

setCrewActivityList()

setPartiMemberList() = RecyclerAdapterCrewCard

getitemViewType()

folder()

getitemCount()

ProfileFragment onBindViewHolder()
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“FeedCommentSerializer =~ GatheringCommentSerializer

+1feed_comment:model + gathering_comment:model

“GatheringParticipantSerializer = EquipmentSerializer
+gathering_participant:model +equipment:model

+ID
+user_ID
+ password

+ create(cls, ID, user_ID, password)

+ create(cls, name, des, image) + create(cls, name, crew_ID, image)
+ remove(cls, crew_ID) + update_crew(cls, user_ID, crew_ID)

+ update_crew_reset(cls, crew_ID)

+ update_profile(cls, ID, name, image)
+crew_ID

+user_ID

D
+ create(cls, user_ID, gathering_ID) + create(cls, crew_ID, user_|

+remove(cls, user_ID, gathering_ID)

+ create(cls, comment, created_at, feed_ID, user_ID)
+ update(cls, ID, comment)
1

+ create(cls, name, created_at, date, crew_ID, user_ID)
+remove(cls, ID)

+ remove(cls, user_ID, gathering_ID)

+ user_ID

+ create(cls, comment, created_at, gathering_ID, user_ID)
+ update(cls, ID, comment)

+ create(cls, des, start_time, end_time, create_at, user_ID, image)
+ remove(cls, ID)

+update(cls, ID, des, start_time, end_time, image)
+ remove(cls, ID)

+ create(cls, category, location_X, location_Y, user_ID, image)
+ remove(cls, ID)

#GET
+ user_feed_list(request)

+ crew_feed_list(request)

+feed_comment_list(request, feed_ID:int)

+ gathering_comment_list(request, gathering_ID:

+ crew_list(request, name)

+ gathering_list(request)

+ gathering_participant_list(request, gathering_ID:int)
+equipment_list(request, X_locfloat, Y_locfloat, distance-float, category:int)
+user_profile(request)

+ user_login(request, ID:string, password:string)

#PUT

+user_feed_put(request)
+feed_comment_put(request)
+ crew_update(request)

+gathering_participate(request)

+ gathering_comment_update(request)

#DELETE

+ user_feed_delete(request, feed_ID:int)
+feed_comment_delete(request, feed_comment_ID:int)
+ equipment_delete(request, equipment_ID:int)

+ crew_delete(request)

+ gathering_delete(request, gathering_ID:int)
+gathering_not_participate(request, gathering_ID:int)

+ gathering_comment_delete(request, gathering_comment_ID:int)
#POST

+ user_post(request)
+ crew_post(request)
+feed_comment_post(request)
+user_feed_post(request)

+ equipment_post(request)

+ gathering_comment_create(request)
+ gathering_post(request)

+ urlpatterns
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Precision : 0.89

Recall : 0.98

precision

tag: metrics/precisior

recall

tag: metrics/reca

mAP_0.5:0.95

tag: metrics/mAP_0
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